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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
o9 PR T fia
(a) What is statistic?
sffowsfe 62

(b)) What is the first moment about the
mean? :

Y A S 52

(c) Define probability.
FFeifder kel fra |
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(2)

(d) When are the two events said to be
mutually exclusive?

A1 71 ¥ AIeife qfee o1 i = 2
(e) What is random variable?
Ao BT 16 2

(/) Is binomial distribution a distribution of
continuous random variable?

faom % S<foze AMfoRe o6 I =C ?

(g0 What is the shape of the normal curve?
TORE (TR AP AT 2

(h) What is sample?
siferf 1 2

(i) What is correlation?
T 2

() Mention one property of random
sample.
e aferfa ot «f Srar 41 |

2. Answer the following questions : 2x5=10

o 2T eq ful

(o) Distinguish between population and
sample.
TR o1 aAferfq e N foran |
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(3)

(b) State the addition theorem of
probability.

STRIfTeR @19l ©Go! Sead 47 |

(c) Mention two properties of the uniform
distribution.

T 51 0 S |

(d) What is covariance?

T2 59

(e) What is stratified random sampling?

TP Afes 2fonae 2

3. Answer any four of the following questions :

5x4=20
o9 2PPTRd A CieeTl SRR Teq fira
(@) Prove the multiplication theorem of
probability.
FIAOR 4 OGeH! 21T I |

(b) A random variable X assumes only three
values -1, 0, 1 with equal probabilities.
Find E (X).

91 RS 16 X (& Wi foR 99 -1, 0, 1
o, R@DR FSRel 79+ | E (X) e |
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(4)

(c) Explain the concept of distribution
functions for jointly distributed random
variables.

Qe Ao AHEE TAFT IBA T
YIRETTCHT T 1 |

(d) Mean of a binomial distribution is 4 and
its standard deviation is ¥3. Obtain the
values of n, p and q.

o 9% B TG 4 I YA [oee /3.
n, p 9% g I I Sfered|

(e) Explain Bayes’ rule.
R Tor g <40 |

() Explain the multistage random
sampling.

T AT AfSsEe I 41 |

4. Answer any four of the following questions :
10x4=40

oo epTEs R Gl SIfRGR Te fi

(a) Derive the mean and variance of
binomial distribution. 5+5=10

o G T S 2R Sfere |
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(b)

(c)

(d)

(e)

24A/85

(S)

Define probability mass function (pmf).
Derive Poisson distribution as a limiting
case of binomial distribution.

TITeR © Fo (pmf) Fg®@ fra | faem
%] e o1 261t *F5 %6+ Sfere |

Discuss the properties of normal
distribution.

TR TG TR HACATGT 1 |

Find Karl Pearson’s correlation
coefficient from the following data and
interpret the result : 8+2=10

T ©YR o[ e PIERea TR Q5T
Tforeat oIF Faree AR F41

1SS 6T 7S SR 9 D0)
Y : 8 75 60 40 .30 20

An unbiased die is thrown. Find the
probability that the number obtained is
either an even number or a multiple of
three or both.

TR R 9B weiew A1 I
SRIIMCHI GB1 W Y A 37 @I A CABR
AR el Tfered |
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(6)

( What are the principal steps in a sample
survey? Discuss.

eforf SRrPE 24 *REFER 6 67 e
Ll

(g9 Mention the difference between mean
deviation and standard deviation.
Mention two properties of standard
deviation. Calculate mean and standard
deviation from the following data :

2+2+6=10

5T Roe S e [oewe Io@ ~1 Sad
3 | e Rvema o1 4 Sea w4 | were fra
Y o[ affes o wie Wee Rvew fefa

40
Age (3557) Persons (If&)
0-10 15
10-20 15
20-30 23
3040 22
40-50 25
50-60 10
60-70 S
70-80 10
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(7)

(h) Define the following with the help of one
example each :

AT OIF THRIPTR. woTe WA 1S
faam

(i) Sample space
sffrf s7afg

(i) Conditional probability
TEACoF FIf!

(iii} Independent events

Fog o1l

() A bag contains 5 white and 4 black
balls. Two balls are drawn at random
one after the other without replacement.
Find the probability that both balls
drawn are black. 6+4=10

9Bl @ 5 B 9N AF 4 B F'AA I@ W0 |
TR EIPre w11 GO Pree s 2
@ TRE 2 | Y@H 99 o @ER IRl
forefa w4 1

* & &
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